230V TWO WHEEL

BANDSAW

13773- BS200A SPARE PARTS DRAWING

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK. KCCM0819




DRAPER

230V TWO WHEEL

BANDSAW

13773- BS200A SPARE PARTS LISTING

KEY o STOCK DESCRIPTION KEY o STOcK DESCRIPTION
1 YBS200A-01 18578 Work table. 54 YBS200A-54 18711 Key core
2 YBS200A-02 18584 M6 x 16 hex screw 55 YBS200A-55 18781 Upper door
3 YBS200A-03 18594 | Table insert 56 See manual Saw blade
4 YBS200A-04 18642 M6 x 25 screw 57 YBS200A-57 18782 Circlip for shaft
5 YBS200A-05 18643 | Ruler base 58 YBS200A-58 18783 | Bearing 6000Z
8 YBS200A-08 18648 | M6 nut 59 YBS200A-59 18785 | Circlip for hole
16 YBS200A-16 18657 Machine body 60 YBS200A-60 18787 Upper saw wheel
20 YBS200A-20 18664 | Seat 61 YBS200A-61 18795 | M8 x 65 screw
21 YBS200A-21 18665 Washer 62 YBS200A-62 18799 Brush
22 YBS200A-22 18666 | Plate 63 YBS200A-63 18818 | M6 x 20 screw
23 YBS200A-23 18667 | Locking knob 64 YBS200A-64 18848 | M4 x 8 screw
24 YBS200A-24 18668 | Gear 65 YBS200A-65 18868 | Switch
25 YBS200A-25 18669 | M6 x 60 screw 66 YBS200A-66 18871 Circlip for shaft
26 YBS200A-26 18670 | Screw 67 YBS200A-67 18874 | Shaft
27 YBS200A-27 18671 Plate 68 YBS200A-68 18880 | Adjustable lever
28 YBS200A-28 18672 | Rack 69 YBS200A-69 18881 Fixed tube
29 YBS200A-29 18673 | Spring pin 70 YBS200A-70 18882 | Nut M10
30 YBS200A-30 18674 | Bar 71 YBS200A-71 18938 | Fixed base
31 YBS200A-31 18675 | M6 x 6 hex socket screw 72 YBS200A-72 18940 | Nut
32 YBS200A-32 18676 Connecting pin 73 YBS200A-73 18946 Adjustable plate
33 YBS200A-33 18677 Fixed block 74 YBS200A-74 18947 Column cover
34 YBS200A-34 18678 Clamping pin 75 YBS200A-75 18948 Adjustable knob
35 YBS200A-35 18679 | Bearing pin 76 YBS200A-76 18949 | M8 nut
36 YBS200A-36 18680 | Bearing 62527 77 YBS200A-77 18950 | Screw
37 YBS200A-37 18681 Upper clamping block 78 YBS200A-78 18951 Washer
38 YBS200A-38 18682 | Plastic board 79 YBS200A-79 18953 | M6 x 12 screw
39 YBS200A-39 18685 | M6 nut 80 YBS200A-80 18954 | Adjustable knob
40 YBS200A-40 18686 Clamping pin 81 YBS200A-81 18960 Wing knob
41 YBS200A-41 18688 | Lower clamping block 82 YBS200A-82 18967 | Knob
42 YBS200A-42 18689 | Washer 83 YBS200A-83 18968 | Wing knob
43 YBS200A-43 18690 Spring washer 84 YBS200A-84 18971 Spring cap
44 YBS200A-44 18693 | Pulley sets 85 YBS200A-85 18972 | Spring
45 YBS200A-45 18696 | Flat key 86 YBS200A-86 18977 | Washer
46 YBS200A-46 18697 | Washer 88 YBS200A-88 18985 | Cover
47 YBS200A-47 18698 | M6 x 10 screw 89 YBS200A-89 18986 | Circlip for shaft
48 YBS200A-48 18699 | Washer 90 YBS200A-90 18994 | Dust Vent
49 YBS200A-49 18703 | M4 x 6 screw 91 YBS200A-91 18999 | Motor
50 YBS200A-50 18704 | M6 x 8 screw 92 YBS200A-92 19005 | Rubber band
51 YBS200A-51 18706 Lower door 93 YBS200A-93 19008 Locating piece
52 YBS200A-52 18707 | Rear Panel 94 YBS200A-94 19010 | Left end cap
53 YBS200A-53 18708 | Washer 95 YBS200A-95 19011 Right end cap

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK.

KCCM0819



230V TWO WHEEL

oyl BANDSAW

13773- BS200A SPARE PARTS LISTING

KEY T STOCK DESCRIPTION KEY o STOCK DESCRIPTION
96 YBS200A-96 19017 | Bar

97 YBS200A-97 19021 Pointer of angle gauge
98 YBS200A-98 19025 | Cage nut

99 YBS200A-99 19033 | Dial

100 YBS200A-100 19068 Plastic washer

101 YBS200A-101 19069 Plastic knob

102 YBS200A-102 19073 | Plastic cap

103 YBS200A-103 19074 Adjustable screw

104 YBS200A-104 19075 Tooth form washer

105 YBS200A-105 19094 Spring washer

112 YBS200A-112 93299 Motor connection assembly
117 YBS200A-117 93301 Motor assembly

118 YBS200A-118 86959 | Guide cover

119 YBS200A-119 86988 | M5*10 screw

120 YBS200A-120 87056 | Guide

121 YBS200A-121 87067 | Guide washer

122 YBS200A-122 87341 Sliding ruler

123 YBS200A-123 87397 Fasten knob

124 YBS200A-124 87765 | Flange

125 YBS200A-125 87766 | Fasten bolt

126 YBS200A-126 87767 Inner M4*4

127 YBS200A-127 87768 | Guide seat

128 YBS200A-128 87769 M6 plastic screw

130 YBS200A-130 93169 Microswitch assembly
134 YBS200A-134 93170 Butterfly screw assembly

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK. KCCM0819




